LA
18,000

16,000

14,000

12,000

10,000

2,000

B, 000

4,000

Z,000

CA
3,000

2,600

z.000

1,500

1.000 f

500

BT OEENZRELR - SHRER- EREROER

EHREROHE

(BZ%10)

O =EE#

h9 B0 Bl B2 B3 m 2 3 4 5 6 7 & 9 10
(F )

ATREN - SREBOHED

59 60 6l BZ B3 o, 2 3 4 5 & F & @ 10
CERE
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59 9,546 1,004 948
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62 6,273 1,153 1,180
63 6,765 1,199 1,187
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4 10,047 1,643 1,319
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6 12,637 2,006 1,852
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9 15,341 2,154 2,019
10 16,497 2,577 2,517




BT AHOEENZBRER SHER-BHEROHER

EREROHE

(A

B.000

] TITTITII =

4.000

3,000

2,000 H |--|{--| F--=-TF-1F-

1,000 H{--||--

LA
1,400

1,200

1,000

g00

E00

4010

200

(B&11)

59IEDI51|62I53I3‘1‘:|2I3I4 I5I6IT Ialgllu
(==
EREH - THREHOHEE

b9 B0 Bl B2 63 >t 2 3 4 5 6 7 8 9 10
(FE)
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59 4,547 1,278 0
60 2,692 905 1100
61 2,354 846 551
62 1,979 530 350
63 2,036 624 352
JT 2,068 818 432
2 2,253 698 444
3 2,465 804 519
4 2,624 621 434
5 2,648 824 479
6 3,350 707 359
7 4,087 678 331
8 4,712 692 301
9 5,089 1,109 526
10 5,449 1,161 323






